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£AM: Mots22
M. HYSAAY

¢l =gl CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAL7E ST 50,000& = 12& 600
OLAa2 =4&H| 7,680
— SAI =2l (aE) 500,000& =+ 1CH 500
— ZelH =2 100,000& * 4CH = 50/100 200
—=AI EU 200,000& = 53 = 104 1,000
—HglH EU(EWH) 200,000& * 53] * 404 4,000
— Xl Eu(Zat) 200,000& * 53] « 104 1,000
—PC =¢cl 100,000& = 19CH = 20/100 380
— JIEt =2t 50,000& = 12& 600
OJIEL AR 22|l 5,000& = 19% = 12& 1,140
202 oddl 78,660 74,520 4,140
01 S LHOIYI 78,660 74,520 4,140
O 04l 78,660
— 2tLHodHl 20,000 + 1998 » 128 » 123 54,720
— 22yl 90,000& = 1998 14« 23,940
203 ¥ S =&l 3,600 4,200 A 600
04 FENSEHR=LH| 3,600 4,200 A 600
ORN2EYS =2 300,000& = 12& 3,600
204 AR A H| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
ONMTADLHHY (MOISTBDE)
100,000& * 128 1,200
Heass(MiS22 D) (eSS /LBHT) 25,200 25,200 0
HEHHXZ 25,200 25,200 0
LIS HeHXI & 25,200 25,200 0
701 JIEt3I HEEES 25,200 25,200 0
02 BIILELEIIHBILEEZ 25,200 25,200 0
OZ2gga &k 20z
100,000& = 30% » 700 » 12&8 25,200
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